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“l can’t stand Heavy Metal!”

The “Cluster Buster” (Introduction)

The Accusative plural of nouns,
possessives, and adjectives

Conditional sentences

- Uses of Obl

- Placement of 6bl

Jnanaor
A TepnéTb He mory x3Bu-métann! I can’t stand Heavy Metal!
(Mapk returns home. Owu ObL1 8 Maza3zuHe.)

Unna: 1 |UYro B memké? YUTo ThI Kymi? What's in the bag? What did you buy?

Mapk: |2 |3enénble moJioTéHua. Green towels.

Wuna: 3 | [ouemy 3enéupie? ThI ke 3HAJ, YTO 5 XOTENIA Why green? You knew after all that I wanted
4 | xéaThle MOJOTEHIIA. yellow towels.

Mapk: |5 |Her, g1 He 3HaI. Ecn 66l 51 3HaL, 5 6bI KYITAIT No, I didn’t know. If I had known I would have
6 | XEITBIE MOJOTEHIIA. bought yellow towels.

Wuna: 7 | Yto emé THI KymiuT? What else did you buy?

Mapk: 8 | KoMmakT-gucKm. (Some) CDs.

Unna: 9 | Kakne? What did you get? (Which ones?)

Mapk: 10 | X3BU-MéTANT. Heavy Metal.

Wnna: 11 | Tol ke 3Haewb, 4TO A TePHéTH HE MOTY XEBH- You know that I can’t stand Heavy Metal!
12 | méran!

Mapk: 13 | Ecout Gbl 1 3HAM 370, 51 ObI He KYIIAT 3T JUCKHU. If I had known that, I wouldn’t have bought

these CDs.

CaoBapnb

1 | memok” (0) bag

2 | 3enEHBIN green

MTOJIOTEHTIE towel
4 | KENTHINA yellow

5 | écim OBI
OBl

if (conditional, + Past)

conditional particle (+ Past)

8 | (KOMITAKT-)ANCK CD

10 | x3BU-METAII

Heavy Metal

11 | TepréTh He MOTY (UTO/KOTO)

(s1) Moty

I can’t stand (+ ACC)

I can (this verb is somewhat irregular; just learn this one form for now)
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26.A The “Cluster Buster” Vowel

YTo B Mmewwkeé? (1)

The dictionary form of the word bag is memok. However, in the first line of the dialogue we see the location
phrase B memké in the bag. Notice that the o is gone. So, the stem of bag is memk+’, which contains, even for
Russians, the unacceptable consonant cluster mx at the end of the word. In comes the Cluster BusterVowel' o to
the rescue. In other forms besides the Nominative, when an ending beginning with a vowel is attached, no Cluster
Buster Vowel is needed. For now, the only place you’ll see a Cluster Buster Vowel is Masculine Nominative
Singular forms. (We’ll see Cluster Buster Vowels in other forms in later chapters.)

Since you can’t really predict which forms contain a Cluster Buster, we’ll let you know with our notation of
writing the Cluster Buster vowel in parenthesis after the word: orer” (e), memox” (0), nenb (). The most

[P

commonly found Cluster Busters Vowels are ‘0’, ‘e’ and ‘€’. Once in a blue moon you’ll see ‘n’.

Now we can see that ueii has the Cluster Buster e. The stem is usii+, which has no vowel at all. So in the
Masculine Nominative Singular an e is inserted. No Cluster Buster is needed in the Feminine, Neuter or Plural:
9bs, Y€, ubH, and Feminine Accusative 4blo.

As a general rule, it’s not uncommon to have a Cluster Buster Vowel before the consonant k.

% Listen and repeat:

SINGULAR PLURAL SINGULAR PLURAL
1. oren’ (e) > OTITBI 2. amepukanerr (e) > aAMEPHKAHIIBI
3. wmemok’ (0) > MEIIKA 4. mnomapok (o) gift > MOIAPKA
5. xomenék’ (&) wallet> KOIIEbKA 6. por (0) mouth > PTHI
7. neHsb (€) > THU 8. omuu’ (m) > OIIHU some
9. wueii (e) IBH 10. motonox” (0) ceiling TTOTOJIKA
? | Question:  Why s it that when the Soft-indicating Cluster Busters Vowels ‘&, ‘¢’ and ‘u’ |

drop out, sometimes the preceding consonant remains soft, as indicated by ‘b’
(e.g., komeaék/komenapkn) and sometimes not (e.g., HeHb/MHH)?

Answer: Very good question. It’s a bit complicated. For now you need to just
memorize what happens for each individual noun.

! Also known as “fill vowel” or “ﬂeetin% vowel”.
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Grammar

Lesson 26

26.b

The Accusative Plural

We’re happy to announce that the Accusative Plural is exactly like the Nominative Plural (except, again, for
animate nouns — both Masculine and Feminine people and animals), so we can’t yet say sentences like / see the
professors, their wives, and the rhinoceroses.

Accusative Plural
Nouns, Possessives, 3T1oT & Adjectives

NoMm SG

NoMm & Acc PL

MASCULINE/ FEMININE (Inanimate)

Same as Nom PI: poss./3To adj. noun
-{} -{l}e -{}
TBOU 00bION MarasuH TBOH OospLre MarasuHsbl
BAIII CUHUIA CJIOBaph BAIIH CUHHE cJIOBapu
Ybsl pycckast KHHUTa 1374 pycckue KHUTH
Hyanna  wHTEpécHas (hoTorpadus HviHuHBL MHTEPECHBIC (hoTtorpadrm
3Ta KOpAYHEBas  JBEPh 3TH KOPAYHEBBIE  JBEPH
NEUTER
Same as Nom PI: poss./3To adj. noun
-{ -{l}e -{A}
310 UHTEpECHOE  MECTO 3TH UHTEpECHBIE  MecTa
HAIIe noporoe PYXbE HAIIN Joporue PYXKbsI
Cammuao  xopoOiee 314Hue Cammusl  xopOuue 3MAHUS

% Put the English cues into the Accusative Plural:

1. Mama xymiuta (white towels, old CDs, black pants, expensive watch gacel, good dictionaries)

2. Mpmr nému (Russian songs, old songs, new songs, English songs, Italian songs)

3. Kro guran (my letters, his books, these newpapers, interesting magazines, her articles craTbsi)

@ Change the direct object from singular to plural:

Example:

51 Xo4y KyIUTb 3e1E€HOE TIOIOTEHIIE.

I'ne s MOTY KyNATh PYCCKUH JHCK?

Jlama mo€t paHIy3cKyto MECHIO.

1
3
5. S o610 MOTO TOPOTYIO MAlTHHY.
7

Brr Bugenu er6 goroanmapar?

9. Kakoit sa3p1k yunt Cepéxa?

11. 51 He mOMHIO 3TO 3aHHUE.

13. A Buepé rndaun XKauauny 100Ky (skirt).

15. Tl He BHAEN MO OOJBIION KPACHBIA MEIIOK?

L1 A xouy kyniime 3enénvie nonoménya.

S xouy cuHIOW pyOaiky (shirt).

TwI BUAHIIE UX PYKBE?

2
4. Buepa Mamra yntéasna XOpOUINii )KypHAIL
6
8

HukTt6 He BUAET MOt HOBBIN CIOBAPE.

10. S yntaro uHTEPECHOE TUCHMO.

12. 4 TepniéTs HE MOTY 3Ty 3€IEHYIO PYUKY.

14. 4 tepnéTh HE MOTY 3TO CIIOBO.

16. ITouemy 3TOT aIBOKAT CMOTPUT Ha ©€ 3eIEHBIH

PIOK34aK?

26-3



26-1 ypok FpammaTuka

26.B Conditional Sentences: Past Tense + Obl

Ecnu 6bl 8 3Han, 8 66l kynin ... (5)

26.B.1 Uses of ObI

The particle 611 is used together with the Past Tense of the verb:

1) To ‘soften’ wishes, normally with the verb xoTé+:

Mesr1 xoTénu 661 yIiThCS B [IpAHCTOHE. We would like to study at (go to) Princeton.
Mama xoTéna 61 padboTaTh B [laproke. Masha would like to work in Paris.
HuxTt6 He X0Tén 0bI )xuTh B UepHOOELITE. No one would want to live in Chernobyl.

For now keep the phrase of xoréisi/a/u + 6bI together.

% ‘Soften’ the wish:

Example: Comns xOuet pabOTath B Maknonansace. [ Cowna xoména 6v1 pabémams 6 Maxoonanvoce.

A (M) X094y IUTS.
Bépa x6ueT TaHIIeBATH.
OHH XOTAT METh PYCCKHUE TTECHHU.

Bopric x64er cTosiTh Ha TOJIOBE.

wok wh =

A (F) xouy 3aHUMATHCS.

2) To indicate a hypothetical situation. This is normally expressed in two clauses: Ecam 651 ... 661
BOTH CLAUSES THAT CONTAIN Bbl MUST HAVE THE VERB IN THE PAST TENSE

Note that these sentences with 0b1 do not express Past Tense.

Eciu 6b1 51 3HAJ, S OBbI Ky 3eJIEHBIC MTOJIOTEHIIA. If I had known, I would have bought green towels.

Ecau 661 XKanna )KI/IH_éUB HL}o—ﬁépKe, If Zhanna lived in NY,

oHa 0bI unTana «Hero-Mopk Taiimey. she would read the New York Times.

Ecam 6b1 Tam GB110 ¢paHIy3cKoe BUHO, s ObI TTHIL. If there had been French wine there, [ would have
drunk (it).

Also note that only the main verbs must appear in the Past. The verb in the subordinate clause is in whatever
tense the context calls for.

[Ecim 661 5 31Ha11] , {moyemy OH KYpHUT}, 1 OBI CKa3aJl. If I knew why he smokes, I would say.
Main clause subordinate clause Lower Main Clause
verb obligatorily in Past verb in this case in Present
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Grammar Lesson 26

e EEFEFEF}Y}Y}Y}F}F}FRFRFRFRR
26.B.2 Placement of écau 061 and ObI

Econ 661 is a phrase you never want to break up. It always appears at the beginning of a clause, and is normally
followed by the subject.

Giving exact rules for the position of 6bI (as opposed to écm 051) is a bit more complicated. Bs1 very often
appears as the second element in the clause, though it is not unusual for 6bI to come either directly before or after
the verb — but don’t put 661 between the negative particle He and the verb. (We suggest you stick to the second
position — it’s the safest place for 6b1.) Here are some examples of the different positions of 6sI:

Ecsm 061 TOns yunes B ['apBapae, oH 0bI HUKOT A
HE 3aHUMAJICS. (Second position)

Ecsmm 061 Tons yunnes B ['apBape, oH HUKOTIA ObI

. . If T H .
He saHAMANCA. (preceding verb) If Tolya went to Harvard, he would never study

Ecau 661 Tons yurics B ['apBap/ie, OH HUKOTIA HE
3aHUMAJICA.OBI. (following verb)

You can reverse the order of the 0bI and écsm 0bI clauses:

Toénsa 6b1 HUKOTA HE 3aHUMAIICS, €CJIM ObI OH YUIIICS
B ['apBapre.

Toénsa Hukorga 0bl He 3aHUMAIICS, €CJIM ObI OH YUIIICS

s TapBapyc. Tolya would never study if he went to Harvard.

Toénsa HuKorAA HE 3aHUMAJICS Obl, €CJIM ObI OH YUIIICS
B ['apBapre.

(In case you’re interested, the placement of 6si is the kind of thing that linguists study. Now that’s what we call
F-U-N.)

@ Combine the sentences and make them conditional:

Example: Biika yuntcs B [princrone. Oua 6e3 KoHIA 3anumaercs [ ]
Ecnu 6v1 Buka yuunace 6 Ipuincmone, ond 6bl 6€3 KOHYA 3AHUHMANACD.

Bépa xuBér B [Taprke. OHA TOBOPUT MO-PPaHILY3CKU.

Mpl yntanu ra3éty. Ml He BCE mepenyTay.

Bopst mnoxo cebst uyBcTBYeT. OH JIGKHAT HA KPOBATH.

51 3nar0, e ol xkuBET. S ckaszai.

4 3Hai, 4TO ThI XOYelh OETYI0 MaIIAHYy. S Kymi1 OEIyro MalliiHy.
Onn yuarcs B [Ipiacrone. OHM 6€3 KOHIIA 3aHUMAIOTCSL.

Tl HEe KypuIlb. Thl Xopowd ce0s YYBCTBYEIb.

A 6pu1 B I'epmannu. S xymian Mepcenéc.

A e RN I S e

Huna xusét B Muacke. OHA HUKOTOA HE MOETCSI.
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,gf Exercise 1  Change the direct object to plural:

1. Sl xo4y KpacHyIO pydKy.

2. Mzl BAgenu OoJbIIOE 3OAHKE.

3. Cons kymina kpacuBbli MemoOK. (think!)

4. Céma kypur pycckyto curapeéry. (Even though we’ve never seen this noun, you can tell what the Nominative is!)

5. Bépa rndamna Moé€ mnaTee (dress).

6. S cnymato (here: take) naTepécHslit Kypc.

7. Makc 0e3 KOHIIA YUTAET CIIOBAPS. (Stress!)

8. CnaBa moér UTANBSHCKYIO TIECHIO.

9. XKéns 3akpruia (closed) nBeps.
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Lesson 26 - Homework
&S Exercise2 Make the sentences conditional:

1. A yuayce B 'apBapne. S HUKOTIA HE 3aHUMAIOCH.

2. OH He kyput. OH X0opomo ceOsi 9yBCTBYET.

3.  My3bIKAHTHI HTPAITH XOPOUIYIO MY3bIKY. MBI TaHIICBAJH.

4. MHpa 6514 B bepimine. OHA nhET X0pOIIIEe HEMENKOE MUBO.

5. MsI cMOTpUM pycckue GHIbMbL. MBI XOpOIIO TOBOPAM TO-PYCCKH.

6. S 6uens xopom6d morw. S He padbdTaro B MaknoHanbIce.

7. Bsl MpuTHCE cerOmHsA. MBI HE TOBOpUM 0 Bac (about you).
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